lodomethane
Response Ratio

0 5 10 15
Amount Ratio

Resp Ratio = 2.34e-001 * Amt - 1.96e-001
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_U\METHOD\524U072518DW.M
Calibration Table Last Updated: Fri Jul 27 15:10:58 2018




t-1,4-Dichloro-2-butene
Response Ratio

0 10 20 30 40
Amount Ratio

Resp Ratio = 7.74e-002 * Amt - 1.16e-001
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_U\METHOD\524U072518DW.M
Calibration Table Last Updated: Fri Jul 27 15:10:58 2018




